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type array_namel|array_sizel;
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int mark[5] = {19, 10, 8, 17, 9};
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int mark[] = {19, 10, 8, 17, 9};

mark[0] mark[1] mark[2] mark[3] mark[4]

19 10 8 17 9
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mark[0] mark[1] mark[2] mark[3] mark[4]
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55.5

66.6

7.7

0.0

0.0
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0.0

6| 0.0
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float a[7] = { 55.5, 66.6, 77.7 };

HAie S p4d 4 39590 polie dlaad A4S SS 8o
Al i w4l ol slass 51 s (a5
float a[3] = { 22.2, 44.4, 66.6, 88.8 };

// ERROR: too many values!

il i 0 — i G0k (b0 (P2 ) adgl (2o ;lude

MEEETNANAR

I

-

STARTEIRES



(35" Judowi ) 15 s (B3,)14de 51 S ,0) - e

1. 1nt a[] ={22,44,66};
0. 1nt a[2] = {22,44};
5. int a[2] = {22,44,66};

1. 1nt al4] = {22};
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1 #include <iostream>
2 using namespace std;
3 int main()

4 2 {

5 int a[3];

6 al[2] = 55;

7 a[e] = 11;

8 a[l] = 33;

9 cout << "a[@e] = "
10 cout << "a[l] = "
11 cout << "a[2] = "
12 L}

<< al[e] << endl;
<< a[l] << endl;
<< al[2] << endl;
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floata[]={0,0,0,0,0,0,0,0,0?}:
float a[9]1 ={ 0, 0 };
floata[9]1={0,0,0,0,0,0,0,0,0?):
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1 #include <iostream>

2 using namespace std;

3 int main()

4 8 {

5 const int SIZE=4; // defines the size N for 4 elements

6 float a[SIZE]; // declares the array's elements as float
7 for (int i=0; i<SIZE; i++)

8  cout << "\ta[" << i << "] = " << a[i] << endl;

9"}

1.4013e-45 1.4013*10%-45
%)

6.30584e-44
(%]
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1 #include <iostream> N ;
2 using namespace std;
. . 12/4=3
3 int main()
4 { float a[] = { 22.2, 44.4, 66.6 };
5 int size = sizeof(a)/sizeof(float);
6 for (int i=0; i<size; i++)
7 ~ cout << "\ta[" << 1 << "] = " << a[i] << endl;
8 }
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float a[7] = { 22.2, 44.4, 66.6 };

float b[7] = { 33.3, 55.5, 77.7 };

b= d, // ERROR: arrays cannot be assigned!

// invalid array assignment

B ldEe Sl it sob a1 ) 4T O ailes o Oed
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float a[7] = { 22.2, 44.4, 66.6 };

float b[7] —_— a; // ERROR: arrays cannot be used as nitializers!

(ool b oot e — i G b (il

JRISPIRS O S P SE AT ANTAL



wll polic 45 it (2liws

1 int main()

2 2 {

3 int a[3];

4 cin>>a[9];

5 cin>>al[2];

6 cin>>a[1l];

7 for(int i=0;i<3;i++)
8

9 -}
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cout << "a["<<i<<"] = " << a[i] << endl;
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1 #include <iostream> ]
2 using namespace std;
3 int main()
42{ const int SIZE=4;
5 float a[SIZE] = { 33.3, 44.4, 55.5, 66.6 };
6 for (int i=0; i<7; i++) //ERROR: index 1is out of bounds!
7 ~cout << "\ta[" << i << "] = " << a[i] << endl;
8 - o -
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1 #include <iostream>

2 using namespace std;

3 int main()

4 {float a[] = { 22.2, 44.4, 66.6 };

5 float x=11.1;

6 cout << "x = " << X << endl;

7 a[3] = 88.8; // ERROR: index 1s out of bounds!
8 cout << "x = " << x << endl; ;3

9

[T

BIBS e

—
\

I

J



I

obler ol K& o 0ol Odel @ Ll 5l s Xz
.L»l.:u,oua.:..a:c.’iu| 6\.’4.1|)| C;\.lla o.))'gb )|J~.z.:4.LaL9>L»

38 &

a
.
0 22.2
| 44.4<
2 66.6 [
X 88.87

S,

22.2

444 |

666

{ 88.8 -
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1 #include <iostream>
2 using namespace std;
3 int main()

42{ const int SIZE=4;

5 float a[] = { 22.2, 44.4, 66.6 };

6 float x=11.1;

7 cout << "x = " << X << endl;

8 a[3333] =88.8;//ERROR: index 1is out of bounds!
S cout << "x = " << x << endl;

Process exited after 8.401 seconds with return value 3221225477
Press any key to continue . . .
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Unhandled Exception EJ MLSA

nhandled exception: al0000005
At address: 00401 03e

L

sl 5 @0 P 1A Slis a4 3ls Y asl 48 A e Ol 6o o
S oo bgie |y 4l sy Jole piuous ol ply 0ad ) ghaie

|ﬁ) .BQ.JJLSA o.)..t.ol.» «o I C.q.g.).g'.)..n ‘Slﬁ:..\.o'» ;L“o.).& UL:\‘.» le.é LJE.A )9 a5 L5~’~l'b'>
V- cwl.i Ll Q.i|c\.3d5.s)|.).3 S9>9 SIS

Ll slacdl> osls &, fl.f:\.m as ["'3'5 alsol ael b 4 slass r,,.:s|93(5,o C++ s
A oS oo €Ll L5 0515 00 oSl 4 .08 (5,8 ol anl p Cigs

ol e dunitet 2 — i Gl (il

FANANY AL

=TS

I

a{{ar<

I'19F

J






W oo NNoOWwv b whR

16
17
18
19
20

o il w4 e Giole gxisls Ve Sl Sl uys ol es Ol )

ERJUCIE < W A TN

03l UJ.».:LNO)-M ul)lMC)I)-oa Jl.)d.’igbg.»fb Ca.‘ili)b).’)l{)'o).oagg.lﬁl 0D Oaixod

#include <iostream>
using namespace std;
int main()

& {

M

"}

}

avr=sum/30;

float a[30],sum=0,avr=0,n,c=0;

for (int i=0;i<30;i++){

cout << "nomre " << i+l <<" om:
cin >> al[i];
sum=sum+a[i];

cout << "1- Avrage= " << avr << endl

cout << "2- enter Your Number: ";
cin »> n;

for (int j=0;3j<30;j++){

}

if(n<a[j]) ++c;

cout << "2- Score More Than "<<n<<"
return 9;
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1 #include <iostream>

2 using namespace std;

3 int main()

48

5 int a[40],min=1000,cindex;

6 & for (int i=0;i<40;i++){

7 cout << "Degree City " << i+l <<": ";

8 cin >> al[i];

9 & if(a[i]<min) {
10 § min=a[i];
11 | cindex=ij;
12 ¢ }
13 t }
14 cout << "1- Index of Coldest= " << cindex << endl;
15 cout << "2- Degree of Coldest= "<<min<<endl;
16 & for (int j=39;3>=0;7j--){
17 ; cout << "City["<<j+1l<<"]="<<a[j]l<<"\t";
18 t }
19
20 return ©;
21 -}
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a[1][2][3] = 99;
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int a[2][3]={1,12,3,14,5,16};

1 12
14 5
int b[2][3]={{1,12,3},{14,5,16}};
1 12
14 5
int c[2][3]={{1,12,3}};
1 12
0 0
int d[2][3]1={1,12,3};
1 12
0 0
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#include <iostream>
using namespace std;
int main()
a {
int a[2][3]={1,12,3,14,5,16};
int b[2][3]={{1,12,3},{14,5,16}};
int c[2][3]={{1,12,3}};
int d[2][3]={1,12,3};

cout<<a[l][1]<<endl; >

cout<<b[1][©]<<endl; ,

cout<<d[1][@]<<endl;
b[1][1] = 34;

c[1][1] = a[1]£}1i§£}1£§11__,_,,.——»
cout<<c[1][1];

return O;
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#include <iostream>
using namespace std;
int main()
{ int a[3][5];
// read array
cout << "Enter 15 integers, 5 per row:\n";
for (int i=0; i<3; 1i++)

{ cout << "ROW " << i << ": ";
~ for (int j=0; j<5; j++)
cin >> a[il[§1; )
//write array
for (int i=0; i<3; i++)
{ for (int j=0; j<5; j++)
Ccout << " " << al[il[jl;
cout << endl; }
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#include <iostream>

using namespace std;
int main()

int a[2][18],n,s;
for (int 1i=0©; 1<10; i++)

{

| cout << "StdNo " << i+l << ": ";
cin >> a[@][i];

_ cout << "Nomre " << i+1 << ": ";

: cin >> a[1][i];

}

cout << "Your STDNO= ";

cin >> n;

cout << "StdNo\tNomre"<<endl;
for (int j=©; j<10; j++)
if (a[e][j]==n) s=a[1][]];

cout <<endl<<"\t Youre Score = "<< s;

cout << a[@][j] <<"\t"<< a[1][j]<<endl;
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